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D Which of the following letters represents the Renal Bygall B AN 5,38 ) ade 4G Gl (e L.f_i-
Cortex in the picture?

1l
P

Processes F Run new rask

Mame AP T

Apps (4)
& Google Chrome (10)
@ LockDawn Browser OEM (32 b,
€& Microsoft Edge (7)

I Task Manager

H

19%

s B &

37%

¢35, slaall

A D

-------p-.--------—tu------w-------n---.-------—-------.---------——h----'--—hd-l-- eessssEEEssssesEETETsSSsEnnn=SSS

- ol



B -2023-2022 il Juadl Glgi jlasl - 2oy i b2Vl - padiall jluall - gald] Giuall

Which of the following letters represents the Adrenal gland
in the below picture?
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The figure below represents the female reproduction system, which
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Many types of receptors are found in the skin. A person can tell if an o) ad il e e}_,.‘.i Oa e alall (Sea

object is hot, cold, sharp, or smooth. In the figure below, which of @) Lol gl lata dal of Lila s pea G1S13) L a2ay
. L - = &7 n= .

the following letters refers to the receptor that detects cold? Talial JSA (b Byl Colins )y LI Y (o
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Which of the following letters does not represent a component of the

excretory system?
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The figure below shows the main structures of the female =l lead duaai 1) CasSIEN oLl JSEN ey

| reproductive system; study it and then answer the question: g e af a3l (gl

Which letter of the following refers to the Corpus luteum? ¢ A amaddl ) ol o= b ‘5‘
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Which of the following letters refers to the Cerebellum 2olal 5 puall A faiiall

in the picture below?
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Which of the following letters represents

the Retina in the picture below?
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' Which of the following numbers

ircular Canal in the picture below?
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Which ef the following letters does not represent a component of the P

excretory system?
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' cortex in the picture?




The figure below represents the female reproduction system, which
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The figure below shows the main SITLREAERE= =1 =0

' reproductive system; study it and then answer the question:

Corpus lute um? ¢ Hiy

Which letter of the following refers to the
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| Which of the following represents the structural

I. classification of the Growth Hormone?

O Nucleic acids

O Steroid

O Carbohydrates
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What would be the hypothetical result if a person ol ATk paduldl (s

lacked motor neurons? issyo A

MOTOR NEURON
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O II¢ would not be able 1o feel a hot plate

o ITe would not be able to breath

O Ele would not be able 1o [eel a deep cul G e
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Whnch ef the fellowmg letters does net represent a component of the il pSa
excretory system?
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